. r-1
wrgfl eflerrggmer - 1/ Model Question Pape
GusiElene (3)reiTL LD I.C)
R
HIGHER SECONDARY — SECOND YEA
PART - Il )
senflaf syfleflus / COMPUTER scu_ENC\PIE o
(581 HYID sy Ee auyf) / Tamil and English V€
' (New Syllabus)
[srsv gyemey: 2.30 wewh Gmirid] _
mum Marks:
[Time Allowed: 2.30 Hours] [Maxi s:70)

Slayenrser. (1) gmargg eflarmssepi Fflwrst! ué}mn‘aﬂ 9__61"1’6"!1'% Etmu'g,mmé
- #fluriggis  Csmreremeyid. a,éfa;ﬂugﬂﬂﬂ@ @@I!).”-ﬂ@“'-ﬂm- S RE

SETETERALILTaTfLLD 2L STIq WTHD Q&;fﬂﬂﬂfg&ﬁlw'

pL GG TWSIUSDED,

(2) Moo s sHLLY enouflenesr
(H\LD. LIL_BIEB6T UDTUSH

94 5CETyReugn@ LwaTUBSS Geuer
GClusTHsD LIwsTLHSH6LD.
Instructions: (1) Check the question paper for faimess of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
uggl - |/ PART -1

Goliy: (i) ovarsg allarrésens@n allenL wefldsseayLb. 15x1=15

(i) OQar@ésuul@erer wrom aflwLsafld syl  sTHYsHLW

aflvLeows Cainb6ls®Hss1s5 GUUT_HLar aflsoLullswsryyd Gxiss
STRSELD.

Note: (i)  All questions are compulsory.
(i)  Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.

1. SETOITSSTERT B NLPSHEI5%06STETERHLD ClFWMHIn M) QUL ITHTEE Y

(o) Pure Qewpanmy (<) Impure AL ENY
(@) srgrremt Clewpanms (7) permanssTGar Sempseh QFwhadl
A function definition which call itself:
(A) Pure function (B) Impure function
(C) Normal function (D) Recursive function
208
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ADT sTaTUSET aflflourdaid:
(1) Abstract Data Tuple () All Data Template
(@) Abstract Data Type () All Data Type

Expansion of ADT:
(A) Abstract Data Tuple (B) All Data Template
(C) Abstract Data Type (D) All Data Type

3. wHEDTH QFWHemn QIEHTIHMEDIL HETEYI6 Qamrenr. Qeuefl @/fmﬁ)hﬂﬂ@lﬁif

g Plallsaslu@n wrml:

(1) e—sirsmento (o) pupsoralu (@) SjenLdbeluLL (%) o_sireflonsmifbp

A variable which is declared inside a function which contains another function
definition:

(A) Local (B) Global (C) Enclosed (D) Built-in

4. U aflesursssder Bad Apbs Hlemouils 56T Gpr AEHOFETDL

(1) 6 (n) (@) O(nlogn) (@) 6(n2) (=) B (n(log n) 2)
Time complexity of bubble sort in best case is
(A) B (n) (B) 6 (n log n) (C) 6 (n2) (D) 8 (n(log n) 2)
5 6% QFwhHGm @ULTLH QewhH@Gn eTeTHID é|mp$5uu@aﬂmg,1?
(o) sremsenfls () epoyfoe (@) 5655 (=) AUl BHSSD
Which operator is also called as Comparative operator?
(A) Arithmetic (B) Relational (C) Logical (D) Assignment
6. (NesTou(HLD EDLISSTET mlredlesr Qeueuf ® sTeieoT?
foriin range(1,10,2):
print(i, end="")
(o) 13579 (o) 12468 (®)246810 (%) 135710

What will be the output of the following python code?
foriin range(1,10,2):
print(i, end="")
(A)13579 (B)12468 (C)246810 (D)135710

18 6Thg ClFwmhdnm) S| STT LGS QFwHdn M) THTHI a,mgpei;emhu@aﬂm@?

(o) somibLr (91) seirenerdsTGer

(@) QFwmhenmi (FF) euemrwenm

Which function is called anonymous function?

(A) Lambda (B) Recursion (C) Function (D) define
209
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10.

1.

12.

13.

14,

3 s ! el
Vb ¥ (Y gt =]
R T SO ] | 1! ¥

(TR

- __ (slicing 0P
Ulsireumeusraupmyeir 5 glsa%n_rr@l.b @Ewm@fﬂ:s"c' ,
(o) {} () [] (@)

Which of the following is the slicing operator? s (D) ()
(A){} ®)[] (€<=

Qeusflf® arsireor?
) [17’23.41 ,10,32]
41,32,23,17.10]

List=[17,23,41,10] sraaflsv, List.append(32)eim
() [32,17,23,41,10] (=5
(@) [10,17,23,32,41] ()
If List=[17,23,41,10] then List.append(32) will result

(A) [32,17,23,41,10] (B) [17,2341 10.32]
(C) [10,17,23,32,41] (D) [41,32,23,17,10]

Hlrauid ers5 auflpamp Splilure L EEEILGADS!?
(o _init_() () _dest_() (@ _rem_() (@ 0e{)
Which of the following method is used as destructor?

(A) _init__() (B) _dest_()  (C)_rem_() (D) _del_{()

Bra) QL L susnentullsy, m QpHeuflens @)susurn) g{mwéﬁﬂu@@!ﬂ@:

(=) USSTU&ES D 9p) 2 meyssT (@) udley () sray
A column in database table is known as an: »
(A) Attribute (B) Relation (C) Tuple (D) Data

Qur@hsT gstenns Caib0s5®:

(o) Commit () Rollback (@) Save point () Revoke
Pick odd one: :
(A) Commit (B) Roll back (C) Save point (D) Revoke

Ulereumeuamsupmysr  erg DTOY&HEMET, 19 &eigerfluflsy

b BlewersEin  Gummemer

(=) listreader( ) () reader( ) (@) tuplereader
Which of the following creates an object which

(A) listreader( ) (B) reader( )

() (w) DicReader( )
maps data to g dictionary?

(®)) tuplereader( ) (D) DicReéder()
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Which of the following is the special variable which by default 3
the file?
(A)_name_  (B) _init_ (C) _del_ (D) def-

tores the name of

15. sussTalle, g Ao Brd aflseme QnTamGL ANenmmls UL BIHEDET o_puTHHU

pweTu@io Wruewrer grey sriAu®HHI0 Lwsur ().

() Matplotlib (.) Infographics
(@) Data visualization (%) pip
rts in few lines

The most popular data visualization library which allows creating cha
of code in Python.

(A) Matplotlib (B) Infographics ~ (C) Data visualization (D) pip
ugd -l / PART - I
gCseuld N laTTESEnSEG A wallss, alarr aom 2455 FLATWLOTS
gx2=12

aflenL_wefl&se L.
Answer any six questions. Question No. 24 is compulsory.
16.  giewewT HITED TETHTEV eTERTEI?
What is Subroutine?
17.  epugsrefes Aplys QeThaar sraTLET wirena?
What are keywords in Python?

18. enusZTETL LweTT auspTWMISHEL CFwDFaDIHEDET o_(HAUTHGHMUSDSTET SL_L DS

S| TS5
Write the syntax of creating User Defined Function in Python.

19. SQLite ererpmev STEHTENT 7
What is SQLite?

20. epugpmerflev Dictionary 2 (HAUTEEHUSDETEN HLLEDET H{EPLOLIEHL STIPSIS.
Write the syntax of creating dictionary in Python.

21, evuggralld ZaTsGW ETEHTDITED 676376 7
What is class in Python?

2.  gGgsgu prevg DDL sl Lmeansenar U g wedBHs.
List any four DDL commands.

23, (&) SWIG (95) MINGW - allfleurdsgons eTipsIs.
Write the expansion of (a) SWIG (b) MinGW
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RO D N AL

Str1 = “Maduraj”

A print(Str1+3)

| What will be the output of the following Python code?
© Str1 = “Maduraj”

1 print(Str1*3)

'v HEEISIRART <18 sTERT 333’5@ SLLTwipr,
TR Yo alerrsseae oL wsiss. el 6x3=1qg
i aflenL_wefléseay .

Answer any six questions. Question No. 33 is compulsory.-

"' 25,  oemise SLOUUTE sTanE Caremauiu®#mg?

f Why access control is required?
"; 26.  eussTafsr Piow CFwh@dlenw s@sbgidbar (BT alleurl.

; Explain ternary operator in Python with an example. . .

| 27.  ewuggrer for W_&&lsb range( ) Qewhan pfleir LkisafLIL| 6T6TET ?

What is the role of range( ) in for loop of Python?

[' 28. G]asw@é;a;ﬂuL@drafmmaS@é;@ Amigviiy stpgis.

: (1) capitalize() () swapcase( )

b Write a short note about the following.
\ (a) capitalize( ) (b) swapcase( )

| 29.  sreys STLALG S5 sTCHemi1d ST LIWIGSTHDET 6T(L05)5.

3 Write any three uses of data visualization -

| 30.  @earsee D_MILIL|S6T 6TETLIRT wiTeney? Sjeuhenm &re’usurrgu U TWMILT)?

( What are class members? How do you define it?

: 31.  SQLeir Delete, Truncate wpmitd Drop s snergsener SULNHs.

‘ Compare Delete, Truncate and Drop in SQL.

32.  eougsrefsr open( ) Qewmen m umm GBINY sTps s,
Write a note on open( ) function of Python
33.

dlsireupid enLidgmesr Blrepisarer Qlwés
Marks=[10, 20, 30, 40, 50]
i=0
sum =20
while i < 4:
sum+=Marks]i]
i+=1

Write execution table for the following Python code,

212
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Marks=[10, 29
» 20, 30
1=0 40,500
sum =0 h
while i < 4;
Sum+=Marks]i]
i+=1
o
W ; - ‘ uggl - IV / PART - IV
| D] UATTHES e85 ﬁﬂml_msrﬂé;ar,a“b. 5x5=25

: " answer all the questions,
34. LEGB afldlssner S5&HS THSSIHSTL_ (D67 aflerds &d.
(Srsvevz1)
suflenswern GaLev L aflerd@s.
Explain LEGB rule with example
(OR)
Discuss about Linear Search Algorithm

35.  eoussreler udGaumn GFwn@plsmer upyl aflardds.
(opevevs)
UGS TEINIT STEUCV G HMIHENET (Jump statements) allfleurs aflerds &%,
Explain the different operators in Python
(OR)

Explain briefly about Jump statements in Python

sirar set QEwhLTHST BG5S TS5 5ETL (D5 EHLET allerd & %.
(Spevas1)
mlyredlesr Qeuafluf® sTedresr?

36. epussTETlL 2

LNeTeu (LD ePUSSTET
class Sample:
num=0
def __init__(self, var):
Sample.num+=‘|
self,var=var

print("The object value is = ", var)
print("The count of object created =", Sample.num)

g1=Sample(15)
g2=Sample(35)
213

TS

e Ty

e e ———————— A S

Scanned ‘by' CamScanner



37.

38.

-S3=Sample(45) python W
Explain the set operations supported by
(OR)
Find the output of the following Python code
class Sample:
num=0
def __init__(self, var):
Sample.num+=1
self.var=var
print("The object value is =", var) AET IR
print("The count of object created = ", Samp
S1=%Sample(15)
SZ=SampIe(35)
83=Sample(45)

BTSSTSL) Lweruip 2-Day Plevasaflsir cumasmar aflord @,
(Sfsbsvg)

5&b5 TOSSISET BT aflors @s.

Explain the types of rglationships used in a database.

(OR)
Explain about the TCL commands with s

Sreysser TCL EL_Lenenssner

uitable examples

fetchmany( ) VUSTUGSS  Meireugyip

e’){!"l_mmmuﬂ@,mm
ugloysmerio fenrufe STLEOD ussTer 6

M6V ST &5,

%001 W?
ﬂ\f\am\m
3005 M\\

507
3006 mﬁ
ma

214
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' | .  creir IO
 ECY OsErHSHELIUL RéTer  sul i QUENTUL GG SUSHTaUBDSTET aLIHBT 2
L geTanD eT0sIs.

. Write a Python code to display all the records of the following table using
fetchmany( ).

Reg No Name Marks

3001 Chithirai 353

3002 Vaigasi 111

3003 Aani ) | o74

3004 lpadi : 289

3005 Aavani 5 s 507 ]

3006 Purattasi 1521

(OR)
Write a Python Script to display the following Pie chart
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LSS e e R s Wt
Lomd 907 v

wrglif eflermggrer — 2 / Model Question Paper =2 j

Cuarlenay @ repmmip o4s1®H
HIGHER SECONDARY - SECOND YEAR

PART - il
senflerfl gyrflaflwer / COMPUTER SCIENCE

(5% wpBID 94E1a aufl / Tamil and English Version)

(New Syllabus)

[sre sjemey: 2.30 wenf Gmirid]

[Time Allowed: 2.30

Wleyenraer: (1)

(2)

Instructions: (1)

LTI

Note: (i)
(ii)

1. 20 CFwhHen n uenrwmiled o_srer wr ] @)suieurn,
(=) siment Brevasir (Subroutines) (<=4) OlFwm

Hours] [Maximum Marks: 70

ADNSS) aflerrésennd sAuresy udars o sirenTs 6T-657U§65)657i;'
FAUTT &4 G]asrrsirsrrsqlb. EsLUSaley  Gsopul®mullsT, DD
SNETeNACIuTerfL_ 2 LTy wrsg Glgflaildssea)Lb.

BOb g smuy  eowuflmer o GG TUSIAUSDG1,
aflc}és@asrnq_@mg,ﬂ'j@[b vweTu®Ss GeuaiT(HLD. LIL_BISHST SUSDTEUS N5
CusTAs ums&ru@@gm{;_b_

Check the question Paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

uggl -1/ PART - |
DTG aflerrTdsss emds @1 aflenL_wefléaaLb. 15x1=15
ClaTR&SILL [Herer wrHm  eflen sefld

aflenL_enwg Caib0sHSgs SBITE QL sir &f
HCEDILE

ELYT eIMmsnLIw
DLty Grigg

All questions are compulsory.

Choose the most appropriate ans

wer from the given four alternatives
and write the option code and the

corresponding answer,

SPYPESUUR g,

e %1 (Function)

(@) eumrwenm (Definition) - () ClFwe my & aer (Parameters)
The variables in a function definition are called as

(A) Subroutines (B) Function

(C) Definition (D) Parameters

216 : o
Scanned by CamScanner



BSueurn) syemidasciLi g
ol (Built in datatype) @imwﬁﬁuucaaﬂ?@.f '
; L sraflerp (Derived data
(@) Blewevwmres Srafler ad
T ks srib (Concrete datatype)
D srallsrid (Abstract datatype) |

The data type whose
re ion i i
(A) Built in datatype presentation is unknown is called.

(B) Derived datatype
(C) Concrete datatype (D) Abstract datatype
Lﬂmm@mmmm@m TS|

T6V 7 . . . .- ‘ . .
@ saitichm (Map) plreords  Gumfufle LTWl&EHSE @D, GUT(EH6THEHSEHLW

TOUGSSL LwsTURADS).

(éi). : ()= @)= () ==

“hiich _Of the following is used in programming languages to map the variable
and object? o _

U ()= @ = (0) ==

CETH&SLILIL_ L P2 Asse00 STiLgHaTar Lig L WTeaT GFWUIpenNSET
(=) Blrsv (Program) (=) Gurslla@plwsnp (Pseudo Code)

(@) umieys uLiv (Flow chart) (@) Q@zwevapswm (Algorithm)
Step by step procedure for solving a given problem:
(A) Program (B) Pseudo Code
(C) Flowchart (D) Algorithm
NesTeume @&mlpsnmullsd, Xeir gl stesrear?
A,B=10,3
X =Aif (A/B==3) else B
print(X) -
(=) 3 (=) 10 (@) True (=) False
What will be thé value of X from the following code snippet?
A,B=10,3 | ;
X = A if (A/B==3) else B
print(X)

(A)3 (B) 10 (C) True ' (D) False *

QaT(HésLILLLasaTe TSI F5560 (JUMP) snpm) SjeVev?

() for (=4) goto (@) continue () break

Which is not a jump statement? - | din

(A) for: .+ (B)goto (C) continue (D) break
217
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£, & ¢ cEeegiee e T Ty . ®

GG ST i
7 eraupo Apiy GEI@seld erg) wirpid jfen

Qg W4

LweTUREDSI? ‘ )
o s @ dofine varlable length
Which of the following special character Is used to
arguments?

" D) #
(A) & (B) $ (C) (D)

8.  epsiypmid ety (Stride) ereiruig) ereirer?

1 () GITLTGID QerwhLimiig.eir s QU_esr gliL| .

(@) SISTLTOLD QEFEwDLITLLL).6T (1psHed DemL|(He TG ‘
(@) suemr@id QrwHuriig.er Grevriird HerLHaIrgL
L () gIeTLTGib QwHUTL_Lg.6T epsTHITLD D)6TL|GaIT G

/ What is stride?

| {A) index value of slice operation

(B) first argument of slice operation

(C) second argument of slice operation

(D) third argument of slice operation

9.  setA={3,6,9}, setB={1,3,9} sraflsv, print(setAlsetB) sreirp @Gmlpspullsr Gauaflui@ |

6T6ITET ?
(91) {3.6.9.1,39)  (a){3.9) @) {1} () {1,3,6,9} |
Let setA=({3,6,9}, setB={1,3,9}. What will be the result of the following snippet? |
print(setA|setB)
(A){3,6,9,1,3,9}  (B){3,9} (C) {1} (D) {1,3,6,9}
10.  Jereumeuameupmusir st private @erd@ap wrpfl?
() —_num (<94) ##num (@) $$num (=) &&num
Which of the following is the private class variable?
(A) __num (B) ##num (C) $$num (D) &&num
1. dereumo s15 GMuf@ SELECT oo pypflsv LwssTLI RS D) ?
(2) 0 () M (@) X () Q
What symbol is used for SELECT statement?
(A) o (B) M (C) X (D) Q
12. @urr@,rbg;rr gstenp GgirHo 50
INSERT \
Pick odd one:
NSERT. B) DELETE D ‘
(A) | ~ (B) . (D) UPDATE (D) TRANGATE
218:
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.13; 18 0ee0 GaEmiiNsir B4

(o) exd Cog) I3 |
x| ; . ’
The fi v, S (@)cel e Ry EQP Y T
e |le extension of Excel:
(A) exl B) x| o :
s
(B) (C) cel (D) Ec!.
1. THS PP R L ; '
DU ADE? ® L Lsusnamruilgysrer sraysenar SQL s Lameruflsir apaid GLUD
et '
i:’l)_ g (<) select (@) execute (s) Query
(Ahlchtmethod uses the SQL command to get all the data from the table?
) ge (B) select (C) execute (D) Query
15.  Matplotlibsv euc LeflerésiuLiv (pie chart) aumreugspaTer QFwmnenml:
(<) pit.bar() (<) pie.plt() (@) bar.plt( ) () plt.pie( )
The function to make a pie chart with Matplotlib:
(A) plt.bar( ) (B) pie.plt( ) (C) bar.plt() (D) pit.pie()
| u@# — |1 / PART = Il |
gGssI %M IlesTT & & 6155 & aflewL_weflas.  allerm sTar  245@ SLLTWIOTS
aflenL_wefldsa)Lb. 6x2=12

Answer any six questions. Question No. 24 is compulsory. .
16. &l LHMILD QesvsLirasT CaumuB55!5.

Differentiate constructors and selectors.

17. s @Oourc® SyeoLoLiL] UEPTIDI

Define control structure.

18. eumibLIT @&wﬁ)h’lﬁ]ffh LI WIGHT 6TEOTEuT?

What is the use of lambda function? .

18 oGS 2-DIUY Qg wh @ Ds6T wreneu?
What are membership operators in Python?
20. Matplotlib STETDTEV sTEIEUT?
What is Matplotlib? |

a{gﬂm_ﬂuﬂsirr My cTETEUr 7

What is the purpose of Destructor?

219
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S 22. " srajgger ER wrdlulls sraysser sjenwoismsT G

PG SIS Lree).

'What ar i 1?45
What are the shapes to represent database structures If ER mode

23.  ewugsTeneT vwetu@®s4), CSV Gariienu Lg &G @ret(d m@@@mamm.

GUIuU(s.
Mention the two ways to read a CSV file using Python.

24.  sreuio gilwammpuilst Geualluf@ sreirar?
What will be the output of the following snippet?
Mydict={chr(x):x for x in range(97,102)}
print(Mydict)

ugg - Il / PART - lI
oflarr  eremr  3385@  SLLTwrs

gGsamiy Hm  alaTssapsE el weflés. :
6x3=18

aflenL_wefléssayLb.
Answer any six questions. Question No. 33 is compulsory.
25. @@ ApPlyspuilst Asspur’_so yerailGb sryeanflsensar upd] GUILY TWEs.

Write a short note on the factors of measuring complexity of an algorithm.

26. ewussreflsy GOILGLWTHmaT > (FTHEGUSDSTET ol FlLpsnmassi wirensu?
What are the rules to be followed while creating an identifier in Python?

27.  ewuggmeir while L sans aflerd@ umileliLL b Q6Tenm suenrs.

Draw a flow chart to explain while loop.

28. ceil( ) wphmiw floor( ) QFwmnHam misemer GauniLBSsis.
Differentiate ceil( ) and floor( ) function?

29.  range( ) Qswmnen Plsir s1L_smsmwsnwlisnu TS aflordgs.

Write and explain the syntax of range( ).

30.  write wpHpib append yempevwasflen Gw 2 sirer Gaupuir Grs'&rsur?l

What is the difference between the write mode and append mode?

31.  Select wpmid Project s _swerasaflsir Goupiur® srssran?

What is the difference between Select and Project command?-
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67(35@].03 apesr o : Y i
TSI 2 BToy uewrwmisse Gurif) (DDL) st Lenersener upy) HpcDIy

Write short note op any three DDL c‘ommandsr.

@rem® private worg)

ENEZ IO S@Ler, CFwhamhenpis ums&ru@,ﬁﬁ aé..:'.@ﬁ@grrsm&mw

Write a class with two private class variables and print the sum using a method.

ug# — IV / PART - IV

SO Qﬂmﬂ'éiai@jé@ allent_wefl&sayLb. 5x5=25

Answer all the questions.

34.

35.

36.

1. SjeTyHEs6T sTeiTUaT Wireneu?
2. MO suenrs; - (@) sroy susnaullevey 6L (HHEH6T

(24) ST6Y UGS L 6T Fnlg W HETL|(HEHEHET
1. What are called Parameters

2. Write a note on - (i) Parameter without Type
(i) Parameter with Type
 (oéoeg1 / OR)
Bre] SEAILTESEmS sraary QFuduBSsiaumi? TESSIEsT  HL 8T afleTd @5

How will you facilitate data abstraction? Explain it with suitable example

LT QFwham Heom THSSISSTLHLT alleTs 5.
Explain about Lambda function with suitable example.
(oysvevz1 / OR)
UGS TestIeT FI Qep@plsmer 5655 THSSIESTL.BL 6T afleTd &s.

Explain about string operators in python with suitable example.

LNesreu (L e0USSTET Brsdsir Qausfluf® stsirenr?
What will be the output of the following Python program?
A={x*3 for x in range (1,6)}
B={y**2 for y in range (1,10,2)}
print(A) '
print(B)
print(A|B)
print(A-B)
print(A&B)
print(A*B)

221
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(ot OR)
-
Usreumid svuiggmeir Predssr Garafluf® 6T floin
What will be the output of the following Pytho" e W 0
class String:
def __init__(self):
self.uppercase=0
self.lowercase=0
self.vowels=0
self.consonants=0
self.spaces=0
- self.string=""
def getstr(self): |
self.string= "Welcome to Puducherry
def count_upper(self): |
for ch in self.string:
if (ch.isupper()):
self.uppercase+=1
def count_lower(self):
for ch in self.string:
if (ch.islower()):
self.lowercase+=1
def count_vowels(self):
for ch in self string: -
if (chin (A", "a", 'e', 'E", 'i", 'I', '0', 'O, 'u', 'U"):
self.vowels+=1 ;
def count_consonants(self):
for ch in self.string:
if (ch notin (A', "a','e', 'E', I, I, '0", 'O, W', UL )
self.consonants+=1
def count_space(self):
for ch in self.string:
if (ch==""):
self.spaces+=1
def execute(self):
self.count_upper()
self.count_lower()
self.count_vowels|()
self.count_consonants()
self.count_space()
def display(self):
print("The given string contains...")
Print("%d Uppercase letters%self.uppercase)

A 2
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Dfint("%d Lowercase letters
Print("%d Vowels

- Print("%d Conso_nants"%self.consonants)

K : - Print("%d Spaces"%self
= . g2 String() oSell.spaces)

S.getstr()
S.execute()

S.display()

ng "Yself.lowercase) ' 20
%oself.vowels) ’

3.

p_jnsqﬂmsu Blwhaenils Qewh@safls Sparemid QrupEPlemer S&GbS
TOSSISST QL6 afloras s,

(1) Union (u)
(2) Intersection (n)

Explain the following operators in Relational algebra with suitable examples.
(1) Union (v) '
(2) Intersection (n)
(606051 / OR)

CsrRSsUuHerer employee gL susnemrenw LweTURSS], aflaTT (1) s (5)
auenr Osr@&EEUILL L enausepsE SAL &1L ensr 611055

EMP ' ALLO
CODE NAME DESIG PAY WANCE
S1001 Hariharan | Supervisor 29000 | 12000
P1002 Shaji Operator 10000 | 5500
P1003 Prasad Operator 12000 | 6500
C1004 Manjima Clerk 8000 4500
M1005 Ratheesh | Mechanic 20000 | 7000

(1) spustsglar  (Pay)  @nmGauflegull, @imsérggj &5 6U6VEH 6L LD
STL_(DeUsDS-

(2) ugser  (Allowance) 5000 g 7000 esuewr Qumib SMaTSHS
ST EHaTleT SEHMOEMmET HTL([HUSDE.

(3) ugal (Desig) mechanic eraw 2_sirer SjeaTSS) ID|VIUVTHETIET &&eUVSEM6IT
h&s.
(4) em yHw sufleng sreneu o _sTeflL.

(5) ugal operators ereur o _grer I WITSFH  JYIuTHMGT  FHDHMET
sr_(HausnS-
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Consider the following employee table. Write saL commands;fOf the q“'esinns (1) :
| to (5). '9.employee table. | ne (

, Wr— _ o TR ALLO

3[. cope  |NAME  |pesiG PAY | WANCE

i | S1001 | Hariharan Supervisor | 29000 12000

3? | P1002  |shaji  |Operator | 10000 | 5500

; | P1003 | Prasad Operator 12000 | 6500 _
j %11%24?‘“ I\R/Ianjima Clerk 8000 | 4500

| , L1909 [ Ratheesh | Mechanic 20000 | 7000

(;) To display the details of all employees in descending order of pay.
) To display all employees whose allowance is between 5000 and 7000.

(
(3) To remove the employees who are mechanic.
(4) Toadd g new row.

(5) To display the details of a employees who are operators.

38. ; D omHm) i
TEEIE Lhmip CSY Cariiyasr GoupiL@ssis.

| ) Differentiate Excel file and SV file.

i (6vsvg / OR)

getopt() Qewhan hifls .

. ﬂ_’)ﬂﬂm &L_L_émer OLOLIEH . . .
}- Jjewar FlmLiyid mﬁ‘:“—lﬁmmzqﬁ) aﬂm"ﬂ U eTpgl, Beir ST (H& & mamyip
i

BHB.

Writ
e the syntax for getopt() and explain its arguments and return values

ek ok ok
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(

[sTe0 jsmey: 2.30 e Girid]
[Time Allowed: 2.30 Hours]

sy raser: (1)

(2)

Instructions: (1)

(2)

GBILy: (i)
(i)
Note: (i)

1. 2@y wrglflwrer 963 D[STL|([HHEHED

- LrgdlA oflesrr g rer - 3 / Mode|

Question Paper - 3
‘ EEEC) '
HIGHER SECONDARY - SECOND vEAR
PART - ||| o R
senflefl onflaflwe / COMPUTER SCIENCE

G’md)';f,]mm Qe

L[S] - . . i
AP LHYID 9w ey / Tamil and English Version)

(New Syllabus)

[Maximum Marks: 70]

Idarsg allerrésephd sflwrst uderd o drers sTETUSMETE
mﬂ.l-lfrﬂ';{ﬁg,jés Qarererayd. ostudald) GopulpoLilsr, amps
semsranfluurerilib o | ergwrss Osfalssa).

B  oveg  smiy  ewullmar  wl G0 TQSINSHSD,
Y &ECsTY HusHGL LWSTURSS CausTBID. UL ERISST DTasDE
Cuestdlsd LweTUHSSLD.

Check the question paper for faimess of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline-and pencil to draw
diagrams. :

u# -1/ PART - |

Sjemearssl aflarrasensen aflmwsflssea). 15x1=15
Qar@EsIuL_@eter  WwTHYI allewL_safley  LilseayLd EIE')L{Eﬂ?ITUJ
aflenLemws CsrHes0E5!5 BT GLer aflenLuflenarujd GFrssl
6TURSALD-

All questions are compulsory.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

or QewpsnalHE S eIliLflearmed Fiflwrest

aflsnL_sows SHio ClFwNIa Dl IRl Sp&s LB SIS ?

(<) Impure QswhsmnI
(@) Dynamic QFwmIn I
The function which will

called:

(A) Impure function
_.(C) Dynamic function

(=) Partial Qewmanmi
() Pure Qgwmnasnl
give exact result then same argume‘nts are pa_ssed are

(B) Partial function
(D) Pure function
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. guaLaT @pSSUuEh?
sTensl Bres Caruyssr Preflsy QwsouL ez ._:maﬂ - g -
() o_sir silenenThs susnrQusvsnsy @:rm;i)wsm.

(@) S@LEsUUC L suenrQussnsy Gwi:&@l*"‘
(@) vussmralu susnr@wssHsy QFrwhHIDISST

(%) 2_sireremid auenr@uwsensy AEITH ENGIED ) red to the program?
Which are loaded as soon as the library files are lmpg scope variables
(A) Built-in scope variables (D) Enclose variables
(C) Global scope variables (E) Local scope
. . Sv)?
Usiteumid e Cplpenmullst ueTysam g SR
Which of the following is not a characteristic of an algorithm _—
(A) Input (B) Program (C) Finiteness (D) Simplicity
UGS Teflsv S(H Blrensy STESENAT (LPSHDSHLOSHSTHSV 5’@5550'7[0? )
(2) @ren® () apsrmy @) s (%) &b
In how many ways programs can be written in Python?
(A) Two (B) Three (C) Four (D) Five
deraumn ewugssresr Blredlsit Qeusfluf @ srsirsr?
a=15
while (a<=20):
print(a%a, end="")
i=i+1
(=) 15 16 17 18 19 20 (=) 20 19 18 17 16 15
@00000o0 (®) 1- 1 1 g e
What will -?56 the output of the following Python Snippet?
a'.'_'
while (a<=20):
print(a%a, end="")

i=i+1
(A)15 16 17 18 19 20

- (B)20 19 18 17 4
C00 00 0 0 6 15

(D)111111

(1) rem () remove (@) del S8 vweTUE A H?
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e
B

peeme i -

10.

11.

12.

13.

14,

. Which command }
can be used to remove entire string variable in Python?

(A) rem (B) remove (C) del (D) delete . -
il i

Z:J)ii:(— | & 6Th% &L Lemar g(m Listeir perdeng sanmOUly &0 oumu@éﬂID@?

) 2 (@) range( ) (@) len() () length()

e unction is used to find length of a list in Python?

(A) for() (B)range() (C)len() (D) length()

MUSSTeN @) ey sulf ) ! 1é ;
. (pem uflear 30
@565 Gauan@in? D (PSEV HIETLY(F SERTIRLIUTSE THD ETHGUTS

(1) self () rec (@) global () key

In Python the class method must have which named argument as first argument?
(A) self (B) rec (C) global (D) key

6TE) QM L suenenrulls) o_erer GiFTLTLenL W sroyseflsT P earEuy?

(=) suflens (o) ueTysamm () SfLeuemesT () QuossTEUIT(HST
Which is the entire collection of related data in one table?

(A) tuple (B) attribute (C) table (D) software

M STYSFTEMS PHOSW commit plenew euenT B OLBEGED ufleuissensT
s @our’® GQury (TCL):

() Commit (<) SavePoint (@) Insert () Rollback
The TCL command used to restores the database to the last commit state:
(A) Commit (B) SavePoint - (C) Insert (D) Rollback

susgreT Gamiy (pempenLosafle) &6l g euLoTeaT LeoLtfhsTas GarudlesT
&G0 e p:

() W (<=3) X (@) b (/) @

The python file mode opens a file for exclusive creation:

(A)w (B) x (C)b (D)a
(NeiTau(Ld ePUSSTET BHITeY Garifar sfwrsr Quui g7

(1) PYCPP-PY () pycpp.cpp (@) Pycpp-C () pycpp-S
Which of the following is the valid Python program file name?

(A) pycpp-pY () pycpp.cpp  (C) pyepP-C (D) pycpp.is

STy SSTSSeeTET S| OITHS) BT6YSHEMATILLD Qupts uwsiru@o SAL Famml:

(<) SELECT (=) C CREATE (®) DISTINCT (+) ORDER BY

The statement in SQL is used to retrieve data from a table in a database:

(A) SELECT (B) CREATE (C) DISTINCT (D) ORDER BY
227
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15 gy 18! Matplotlly s i@ geder 1o @":"‘;L_tb
(@) Q@ rafl (ap) ouit _,
o o weoru it ol !
~ Which of the following Is not a type of visualization under m oy SaLis |
(A) Histogram . (B) pie chart (C) Box plot , 1
u@# Il / PART = Il | _ -.
TCseIth )] mﬂﬂrrrd'r,a;@gr,@ m:[a:,),_mmﬂ&ﬁ_ aflorr et 2455 asl_al:rr;:)::
aﬂmuunﬂa‘msqlb.

Answer any six questions. Question No. 24 is compulsory.

16. LTI LH b Qrwedu @ gm0 Cougyuir(® sreirer?
: ion?
What is the difference between interface and implementation?
7. s ssouc, UDTCwDene srsiTm ey seiran?
What is enclosed scope?
8. eugsrefer é?ﬂ)l.'uﬂumbqasir wreneu?
What are the key features of Python?
19.

WUSSTeoflsir LVGsupm) ClFwi g my) CFwgmLseflsr aiensssr wirsne?
What are the different types of function arguments in Python?

20. Swapcase( ) steirmmed sreiresr STRTUS g STOSSISETL_(HL_esr T(PS15.

What is Swapcase( )? Write with an example.

21, SQLitesy PO Sreysmsms 2-BUTEG1D LG5 Teir Blrev RETDD 6T1pg)5.

Write a Python code to Create a database in SQLite.

22.  DBMSsir Blenmser wirenen?
What are the advantages of DBMS?

23. csv Gsriy STOTMTED 6TetTaw?

What is CSV file?

24, Wsireum1p DUSSTET )reSleir Ceuafluf® srsiren?
What will be the output of the
set A={A" 2 4 'D'}
set.B={A, '8, 'C, 1)
print(set_A & set_B)

following snippet?

228
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G ;s o u@ﬂ —1l/ PART - M
oGsDI0 B0 T 55 @M 6> @ slﬂml_ujsrﬂa;as

ﬁﬂmbmﬂﬁﬁﬁmw aflerr  ereiw 33&..@ S L Tuwrs
Answer any six questions. Question No. 33 is compulsory. | S
25. 9} 5B 6iT LOHMID QFVEHL a6 §TEATMTEV 6T6aTeNT?
What are constructors and selectors?
; LBl ' j
26. & | Pl uflenswrss Qumlysmpssrer Gursds GO QT TIPS
Write a pseudo code for bubble sort algorithm.
21.  eugsreflsr input( ) uny ApieHiy gerem spsis.
Write a short note on input( ) in Python.
28. ewusgreafler if...elif...else s pmlsr Qsrflenes s110515.
Write the syntax of if...elif...else statement in Python.
29.

QL L QUETLLLD 6T&THIE) eTsien? epUSSTAT) QUL EUDTULSDS sTEUEUTM)
o_meursgaurii? G5 96 TOSHIGSTLG 5®HS-
What is pie chart? How will you create pie chart in Python? Give an example.

30. ewuggmer Public whmiw Private srey o mILILy&6T Wreneu?

What is a Public and Private data member in Python?

31.  SQLeir DELETE, TRUNCATE wpmiid DROP &(_LsnsmaaflsiT LILET sTeiTai ?
What is the use of DELETE, TRUNCATE and DROP commands in SQL?

32. CH++@g Guevrer PLIGSTEITIGT LIGHTL &I DIHET wireneu?

What are the features of Python over C++7?

33. sFrsms gms'm_rre'ﬁ@g,d) umml @g,rrl_:ﬂwsb LoHMILD ﬂ@;jr)@ésawf_@l_sir Amugmiiy
6TPSIS-
Write a short note on string slicing with syntax and example.
ugd -V | PART -1V

Sywasg allerTssEhs S aflenL_weflé&Ha| L.
Answer all the questions.

5x5=25

3 Qpglyemmpuller Absd unp aflerd&s-
' Explain about Complexity of an algorithm.
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35.

36.

37.

LTI : 5EHF
» WUSHTST aflvenaasafisr aienssmer ofleTES

(sysowg) | OF)

Explain about the types of tokens in Python. , s yne

. b 9G TOSSEE G,
DUSSTTIST W1L_sGasefler aumaser wrenai? IG5 '
aflond; 5.

in wi le.
lain with an examp
What are the different types of loops in Python? EXP
(oevevz / OR)
WUSSTST wr ) susnrQwsdsnavssr wraneu”?

What are the scopes of variables in Python?

Lﬂsérsu@tb Ldmﬂsmmrrjr,g, Fr ngﬂb&gﬂﬁmmu u,rp,r_rﬂ @gﬂuLI me?slmjér( :
(<o) capitalize( ) (<) isalpha( ) (@) isalnum() (=) lo

Write the short note on the following built-in string functions. |

(i) capitalize( ) (ii) isalpha( ) (iii) isalnum( ) (iv) lower()

(OR)

Dictionary STRIMTE) 6TeiTen? oygshr Qsrflwsy whmub List wmHmyib chtlonary&';@
Blen L ullevresr Caimiur@ssmeruym TR . |

What is dictionary? Write its syntax and differences between list and dictionary.

LT CEEINIIE GeuafufL epi_ @
Rewrite the following Python pro
Qsusfluf® / OUTPUT:
Enter Radius: 5
The area = 78.5
The circumference = 34.10
Blreb / CODE:
Class circle( )
pi=3.14
def --init__ (self, radius):
self=radius
DEF area(SELF):
Return !
Circle.pi + (self.radiys * 2)
Def circumference(self):
Return 2*circle.pj * self.radius
r = input(*Enter radius= “)
C = circle(r)
print “The Area; * c.area( )
printf (“The circumference="

HOIRISDE Wsitou o Blreney £lws4) staps)s.
gram to get the given output:

» C)
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v psveg) | OR)
DBMSsir Lot d gn mi a6t wirensy?

What are the characteristics of DBMS?

8.

.‘IJTE’J@QW&J.@W LVGoumI auew s wiTesr SLOUuUr@aser (constraints) o
What are the different types of constraints in Databasge? Wreneu?

(o660 / OR)
SeiTau(pLd MLISSTET mBlredlesr GlauaflufenL susnyas.

Draw the output for the following Python code.

import matplotlib.pyplot as plt
a=01,23]

b =[5,7,4]

x=[1,2,3]

y =[10,14,12] _
pit.plot(a,b, label="Lable 1')
plt.plot(x,y, label="Lable 2')
plt.xlabel("X-Axis")
plt.ylabel("Y-Axis")
plt.legend()

plt.show()

Kk
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wor gl eflerrsgrer ~ 4 / Model Oues'tion Pfelper 4, |
Cuslsne @)rermid P C) -
HIGHER SECONDARY — SECOND YEAR
| PART - Ill
sonflefl oyflaflue | COMPUTER SCIENCE o
(5185 whmib 9y iisdle ey / Tamil and English Version)
(New Syllabus)

[srev syarey: 2.30 wesf) Cwirin]

[Time Allowed: 2.30 Hours]

S Pleyenraer: (1)

(2)

Instructions: (1)

efin: ()

Note:

(ii)

[Maximum Marks: 70]

S DTGE) sllerrdgasepn Flwrsl ug]s)f:raﬂ a_mmngﬂsr'ﬂTUg,mm%
FAUTT& g6 Clamsirarayn. Faluglais) @mguﬂ@u ST, Sy,
STHTERACILTeTTL 1D 2 | amgwrss Epflalésa)b.

LW VG sEHOY  ewwulleneT LDL-_@GUJ. TSI 0,
@ll?$c5m$®ﬁl,€:@@lb uweTuBds CeusnT(Hd. LIL_BIS6T UDToUZ
Cusirdlsy umshu@g‘r,'g,a#b_

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

uggl — |/ PART — |
SIS S! QfleaTTds s 6m s @510 caﬂsm!_msvﬂe'sa;sqﬂ). 15x1=15

CETQS s ILL HsTar LIHD  eflen_seafle WBl&eyid

All questions are compulsory.

Choose the most appropriate answer fr

i °m the given f atives
and write the option code and the corre - oursiten

Sponding answer.

Cl&wimHan ey 2Ty auens @iy TSI Curg;),

SLLTWLOTE)(h? Lﬂﬁrm@m Thg SfeL_LiydgGH
() {) (@) () @1

Which of the following are t i () <>

definition? g mandatory to write the type @nnotations in the function
(A){} ®) () ©)[]
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i LD I:j STy .. . »
@ LIy smer POTHTS LGSV (Bsusurm) &msLL@D.

o) Pair :
) _ (<) Triplet (@) single () quadrat
_B:nsllll’lg two values together into one can be considered as '
(AyFair = (B) Triplet (C) single (D) quadrat-

- @)s1 Oplyenpullst Gariurl @ CFwsFmer LGLUTILS| NGNS

(1) @b gu wgnf@ (Priori estimates)
(=) Ubensw Cargens (Posteriori testing)

(@) @sarrenfl (Space factor) () Gprésmyentl (Time factor)
This ig a'thec_)retical performance analysis of an algorithm:

(A) Priori estimates (B) Posteriori testing

(C) Space factor (D) Time factor

Lsiroumid sThSE gnhml VG S DISET seuprerg)?

(1) ewugsrer @@ Qurg uweTUTC®H Qurflurg. @S g Plaflwe oM mILD
S|Mlaflwey VTS Brerssss0 &L LweTUHSSOTLD-

(2) wussTer 9B GUIUUILL @wés DLW FTITS Gomifl

(3) swugsTED TSSLILLL BlTdHeDsT Ui LIUGILD, L FBSIQsTaTaUSID &14-60TLD.

(o)) snpmy 1 GO (B) ey 1 opguid 2

(@) shm 3 LG () SIETES! G DDIBEHLD

Which of the following statement(s) is not correct?

(1 Python is a general purpose programming language which can be used for both
scientific and non-scientific programming.

(2) Pythonis a platform independent programming language.

(3) The programs written in Python are difficult to read and understand.

(A) Statement (1) Only (B) Statement (1) and (2)

(C) Statement (3) Only (D) All statements
QUTHSSHIS- :

(a) if...elif - (i) greusv (Jump)

(b) while - (i) QaTSS) (Block)

(c) pass - (iii) wL&& (Loop)

(d) indentation - (iv) Hsweriilfliy (Branching)

() (@)<(iv), (b)-(ii), (c)-(), (d)-() () (a)-(0), (B)-(i), (c)-(v), (A)-i1)
(@) (a)-(iv), (b)-(0), (€)-(ii), (d)-() () (@)-(D), (0)-(iv), (e)-(iD), (d)-(iii)

Match the following:

(a) if...elif - (i) Jump

(b) while - (ii) Block

(c) pass - (iii) Loop

(d) indentation - (iv) Branching

(A) (3)-(iv), (b)-(i), (c)-(i). (d)-(ii) (B) (a)-(i), (b)-iii), (c)-(iv), (A)-(ii)

(C) (a)-iv), (b)-Gi), (c)-(iii), (d)-(ii) (D) (a)-(i), (b)-(iv), (c)-(i), (d)-(iii)
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10.

1.

12.

L LD,
Aptiy Qs THSSTHY Wwrpf ST hE ST sTeua T cﬂmwﬁ&uu@

() Sets (ay) List (@) Tuples (=) Dictionary - ,
Non-keyword variable arguments are called as N
(A) Sets (B) List (C) Tuples (D) Dictionary

st ehs GE@ formal( ) Qewpapiiss @ Aroflurs JONS Yoghg,
Arglufemrs Lwstu@ S g ?

(o) {} (@) <> (@) ++ (rF) AN

Which of the following is used as placeholders or replacement fields which gey
replaced along with format( ) function?

(A) {} (B) <> (C) ++ (D) M

THS CFwHemm wuGSTels QsrLiwguysmer e maurssl LWSTUGSEDS?
(1) series( ) (<) range( ) (@) list( ) () tuple()

Which Function is used to generate a series of values in Python?

(A) series( ) (B) range() (C) list( ) (D) tuple()
@Wt%@@é@sir AUDTWRISSULUBD QFwHED) «........ TSN O YPLLBEIDG).

(o) usrgonpissir (o) oporygasr (@) Grugigyssr (7) aufgeopassr
The function defined inside aclassiscalledas.........
(A) Attribute (C) Parameter (D) Arguments (D) Methods

ThS UMS 2_Meyepeny Lig Hlensv wrglflenw suynigdmsg?

() spsrmyL_sir FOTM (=) @srmILsr us
(@) uweup L sit peirmy () usvsuDH T siT LIV
What type of relationship does hierarchical model represents?
(A) one-to-one (B) one-to-many

(B) many-to-one (D) many-to-many

SQL s _Lewer ‘Truncate' STHS QUGS BL_L_enar

(<) DDL (1) DML (@) TCL (=) DQL
The SQL command 'Truncate' comes under:
(A) DDL (B) DML (C) TCL (D) DQL

csv.register_dialect() Cawpapflsd,  sseumio
B Qsusflenw Baal uweTu®BAma)?

() removespace ' (=) skipinitialspace
(@)) skipspace (r) removeinitialspace

ThS Qsmgy@q Gleupm
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"I csv.register di i ‘
gister_dialect(), Which of the following parameter is qued'for,removing

whitespaces?
(A) removespace
_ B) skipiniti
-(C).skipspace i plnlhz.ils.;f)ace
| L (D) removeinitialspace
g3 e -+ STSTUG] SHGUTE W - i i ;
! o) e SW dnpiplenevens wHif@ QFlyb PG 2_ereflenaTbS
() —_name__ () __main__ (@) _mode__ (F) —init__.
............ is a built-in variable which evaluates to the name of the current module.
(A) _name__ (B) __main__ (C) _mode__ (D) __init_
14. TSl sroysser  ufeayseflar 155 Crwul B SreyHmeT GewemsgGd 20
sSLOUurl(®) enwlil ) @L.
(aQ fetfih () fetchall (@) cursor (/) key
Which is a control structure used to traverse and fetch the records of the database?
(A) fetch (B) fetchall - (C) cursor (D) key
15. .. susnraflib sreysemer Ysrellaeallsr CsrGULTS T HADSI-
() surf (o) 0@ar i (G) Guily () sul L
........... plot is a type of plot that shows the data as a collection of points.
(A) Line (B) Scatter (C) Box (D) Pie
_ U@Q—IIIPART—II
gGasgd M aleTrésensg ol wallss. et eter 24&@ SLLTWLTS
aflepL_wearfl&&eLD. 6x2=12

Answer any six questions. Question No. 24 is compulsory.
16. Namespace stsirpmsv eTeoTanr ?
What do you mean by Namespace?

17.  eussrafd afldenadem 6TGITMTED 6T6ITET ?
What are tokens in Python?

18.  enuggreflar while wi_G&ar Qarfliuensy sTpSI%.
' Write the syntax of while loop in Python.

19. Qaer@asiul@erer epLIGSTET [BIradleT allaThSLILL S60S UMD,
import matplotlib.pyplot as pit

plt.plot([1,2,3,4], [1,4,9,16])

plt.show()

Draw the chart for the given Python snippet.

import matplotlib.pyplot as plt
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20.

2k

22.

23.

24,

- plt.plot([1,2,3,4], [1,4,9,16])

plt.show()

Apingé  @ETIST  Spig gy
ougsret  HBmrusd  auenrBWM D
afldlpenpaailsh 1@xepid @rement. 100515

in Python.
Write any two basic rules of global scope keyword if yt

sougsrafle) set sraimmey steirsn?
What is set in Python?

. : sneu?
SQLsir sragé s EUUTLE @uriflé (DCL) sLLenarssT wr
What are DCL commands in SQL?

Scripting Qumflseflsr uwearuT@semer T(LPSIB-
Write the applications of scripting languages.

dlsiraumid enugsreir Hredlsir Qeualluf(p sreimen?
str1="THOLKAPPIYAM"

print(str1[4:])

print(str1[4::2))

print(str1[::3])

print(str1[::-3])

What will be output of the following Python snippet?
str1="THOLKAPPIYAM"

print(str1[4:])

print(str1[4::2])

print(str1[::3])

print(str1[::-3])

uggl - Il / PART - 1lI

gCs@ib o aflarésense  aloLwellss.  aflerr st 33&@  sLLTwoTS
aflen_wefld s eyib. 6x3=18

Answer any six questions. Question No. 33 is compulsory.

25.

26.

27,

eperml ClFwgmysellsd) Gammbs wHiewud ST ClFwHam m) PATDD TSI,
Write a function that finds the minimum of its three arguments.

BI0| HBHMWTESF MG sTueurn) QFwOLG G eurds?
How do you facilitate data abstraction?

suflen#1perms G _edlsir Quiredls; GHlyepew g s,
Write the pseudo code for linear search.
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9.
30.
31.

32.

33.

. G0y ey
@) (gt

type() (@) chr() “

on:

(i) id() (i) type() i chr()

Write a short note

fetchone( ) LwHD)d fetchmany( )

. Caimur®s; .
Mention the difference between DIurGsevsr @Ol G s.

fetchone( ) and fetchmany( ).

LG ) j hml ’
" ,E::j"'“ﬂﬂ) 25 wHYID HPC-eow sTeMOUTE) euenTwmyCiumdi?
W do you define constructor and destructor in Python?

DBMSW POL 2 payPlewe QFwpHUT@smeris LhH @GBllL aenrs.
Write a short note on Unary Relational Operations of DBMS.

wussTeflsy csv.write( ) Qewpamm m srgryemr CSV Gsriemu o_(HEUTHS
sTeuSUT M) vweaTu®BEmg?

How csv.write( ) function is used to create a normal CSV file in Python?

Ulsireumip enuggmeir Blredleir Gleuafluf® sreirer?
str1 = "welcome"

str2 = "to school"
str3=str1[:3]+str2[len(str2)-1:]

print(str3)

What will be the output of the following Python program?
str1 = "welcome"

str2 = "to school"

str3=str1[:3]+str2[len(str2)-1:]

print(str3)

L@ — IV | PART = IV

TS AfSTTESEHES aflsp L wefl&EaHea)L. 5x5=25
Answer all the questions.

34.

3%,

QFT G H6T GTESTLICT wreneu? Sjeuppler LaLlweLseT wreneu?
What are modules? What are its characteristics?
(yvevg1 / OR)
CaibOs@ELL auflenFrés QB e pullsr Guredls GUlpmDEW STASIS.
Write the pseudo code for selection sort algorithm.
60 L1 & T 691637 while wL&maL upm) QUIr(HSSLOmeT a@;sl@a‘sasrn'.@x.sh aflard 5.

Explain about while loop in Python with suitable example
(gowg!  OR)
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36.

37.

38.

‘ | er ﬂ@é’?@]&iﬂ;fﬂ__
mug;gn'wﬂm Qaﬂumg,\_gﬂ @,mq@ﬁéﬁmm @un'@gg;wn‘ | ®L.

' 61ﬂ6Tr&i@j:5

itable examp|es
Explain types of function arguments in Python with sul |
. L et allerd @
Ulssraumib & ClFwHam miFHemem GILIT(HSHSLOTET “@ﬁ@‘f’;‘ﬁ”"‘@ |

(1) center() - () find()
Explain the following string functions with suitable examples
(i) center( ) (i) find( )
(osvsvg / OR)

Ulsiteuid epugg e Hredsir Qeuafluf @ srsirsn?
What will be the output of the following Python program?
N=T] )
for x in range(1,11):

N.append(x)
Num=tuple(N)
print(Num)
forindex, i in enumerate(N):

if(i%2==1):

del N[index]

print(N)

STSSNSFD LWSTUBLD 2 MeyRlspevsaflsT ausmasssmer aflord@as.
Explain the types of relationships used in database.

(@ysvsvg / OR)
SQLsir srey swswrense Qurflés s1L_emerssneart umm) eflerds@s.
Explain about DML commands of SQL.

SQLite3eb Wlssraupio sreysmsnar Coiflsmayb, Fmibu a@bsa R(H  MUSSTET
Blremev sT1pg15.

Write a Python program to store and retrieve the following data in SQLite3.
Sraygen gl L eugeuenwiiy / Database Schema:

Field Type Size Constrain

Ro]lno INTEGER - . | PRIMARY KEY

Sname : VARCHAR 20

:Gender CI-:IAR 1 :

Averagg - DECIMAL : 5,2 J
. 238
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5+;in9‘~=255 o _sefl_iL_Geuedsrigw sreyssir / Data to be inserted as tuple:

Rollno Sname Gender Averaée

1001 KULOTHUNGAN Mo 75.2

1002 KUNDAVAI F | 95.6

1003 RAJARAJAN M 80.6

1004 RAJENDRAN M 98.6

1005 AVVAI F 70.1
anflevGLTalyTid LoMHmILD ul;s(zs)éliw?u%'mluggﬁj&;@é;@ @ml—_wﬂrm GeugyurHI&H6T
wreneu?

: _ >
What are the key differences between Histogram and Bar graph

Fkhk
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- B, i
_ stion Paper = 2. .-
s meir — 5/ Model QU€
" rglf aflarmgsmer 1@

Guosvplensv @Mﬂh'—-’”b AR
‘ Y
HIGHER SECONDARY - SECOND

PART - Ill
E
senflafl oflafus | COMPUTER SCIENC

and English Version)

o e

(5 wHDIb Sy E1e euyf) / Tamil

~ (New Syllabus)

[sre0 jsmey: 2.30 wenfl Cpyrin] | [Maximum Mark
s:

[Time Allowed: 2.30 Hours] N

SPleyersst: (1)  gwarsg alarrssepn Flurs L!éhﬂj”ﬂﬁ‘ﬂ Q—Wu;”ri_ﬂj&rmuﬁmm%
Ffluriégid G mereareyLb. gFaLuglails GPDPUIG ' Sdmg

seasTeafliumrsmilib o_L aTgwrss Qg fallé&sa|L.
(2) B 6Vib SV H(HLILY emoufleneor LDI:—@GLD- ":T@leﬁ,@@?&,
9y 5CsTY HeusnE LwsTUBES CouaT@LD. ULBISET QIMTaughe
OusiTdled LweTUGSS L.
Instructions: (1) Check the question paper for fairness of pr_inting. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

uggl -1/ PART - |

Gy ()  owearsg alarrssens e aflen_weflGaEeyib. 15x1=15
(i) Casr@ésiiuc (Bsrer wrom  aflenL_sefled Blseyb  ehysoLw
aflwLemws Csihbos®s516 GDIUTL_(HLesr aflenLullsneruyn Gaigg
TS LD.
Note: ()  All questions are compulsory.

(i)~ Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. dlsrauid stiss Qpplapsnm 581 e iiLmb s 2538153 Blasrmerg?

() CormEs6 aufenswmasim (=) @ik Blrevrsa i
(B) CaipOs@Iy Css (%) SO Brasmasi
Which of the following algorithmic approach is similar to djvige and conquer
approach? |
(A) Insertion sorting (B) Dynamic Programming
(C) Selection searching (D) Bubble Programming
240
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e W UGG EH ADT Qeudu@siuL e
(9N heop @everringy L g e A iy
(@) = VNG 9
ADT can be implemented using

A si , :
( )_sn'ngly linked list . :+ . (B) doubly linked list
(C) either Aor B

() @rieni Genewriinyls Ul iquwed
() o) @évenev, g, @Glévens

(D) neither A nor B
3. deragh ag Qsred Hrorsasdhe aoheesn.6 oda? |
(1) Gewdyemnser (1) giememr Blysvamer i
(@)_@mé@@ (#) Qewmhaenm ’
Which of the following is not the example of modules?
(A) procedures (B) subroutines ~ (C)class (D) functions.
4.  enuggreflsr Wy sar augss Qewn@M e7g?
(o) / (<) % (@) %% () /I
The floor division operator in Python:
(A1 (B) % (C) %% D)/
5. souggrer range( ) Qewmenplsr allmin gjerym:
(<)) start (a4) stop (@) step () slice
The optional parameter of range( ) function in Python ’
(A) start (B) stop (C) step (D) slice
6. Usiteumid epuigsmeir Blrsdlsir Qeusfluf® ersren?
c=5
def add():
c=Cc+5
print(c)
add()
(A) 5 (B) 10 (C) 15 (D) Wlemip
What will be the output of the following Python snippet?
c=5
def add():
c=c+5
print(c)
add()
(A)5 (B) 10 (C) 15 (D) Error

1. g Quilw sTepsdled erisnGUITaTERTL aulgeva IFFAL LweTuGID suLgQpL L6V

TWSSI: :

(1) %e (<) %E (@) %9 () %n |
The formatting character is used to print exponential notation in uppercase:
(A) %e (B) %E (C) %g (D) %n
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10.

11.

12,

BrienLseir @&i)wrrg;, wrppeiwers i)

QBT e ? ; () Dictionary
() List (<) Tuple (@) S?t, . ments without duplicates?
Which is a mutable and unordered collection of eléme (D) Dictionary
(A) List (B) Tuple (C) Set

TS FTTN(HOUTEH 6D 6TEHTLIZ): ) p &
g’) 9§%m$(§gj@umm !J.@sun'és@égsi) (Q{,) @0 %&ﬂmw L@::;(S;m
@) 96 s 2_(H6UTS %6V () g QuT@eT 2-0
The Class instantiation means:
(A) Creating a class

(C) Creating a Destructor

(B) Creating a constructor
(D) Creating an object

DBMSsv 2_meymlensy Bupsenflssgsv projectst @pluf®:

(&) o (a)T1 @) (m)
The symbol of project in relational algebra of DBMS:

(A) o (B) IT (C) N (D) v
CurBss)s:

(a) DELETE' - (i) DDL

(b) DROP - (i) DQL

(c) SELECT - (iii) TCL

(d) COMMIT - (iv) DML

(1) a-iv, b-iii, c-ii, d-i
(@) a-i, b-iv, c-iii, d-ii
Match the following:

(<) a-iv, b-i, c-ii, d-iii
(/) @-i, b-iii, c-iv, d-ii

(a) DELETE - ()pDL

(b) DROP - (i)paL
(c) SELECT - (i) ToL
(d) COMMIT - (iv)DML

(A) a-iv, b-iii, c-ii, d-i
(C) @i, b-iv, c-ii, d-ii

(B) @-iv, b-i, c-ii, d-iii
(D) @-i, b-iii, c-iv, d-ij

CSV Garienu dictionaryenus Ugds ........ LWSTUEm g,

(®) Reader (=) DictReader (@) CSVReader () FileReader

Toread a CSV file into a dictionary can be done by using....... .

(A) Reader (B) DictReader (C) CSVReader (D) FileReader
242
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14.

15.

STeTLIG) GUlpenpew Anfp ugdsarrs Lﬂrﬂuugmasrrm lem@uﬂ'@m g
QULYEUEMLOLILY [5ILLiLom (1D,

(1) Qur@st CBrd@ Blreomssio (1) @um;@ ;ﬁlqmrresa;m

(@) Qewerypmp Corég Hroorssn () FnmIBlens) BlrevrssLo

........... is a software design_technique to split your code into separate parts.
(A) Object Oriented Programming (B) Dynamic Programming

(C) Procedural Oriented Programming (D) Modular Programming

Seirsumid 615 giemenElred SQLsb @risv udeaysener gallidgn?

(o) DISTINCT (<) HAVING (@) WHERE () GROUPBY
Which of the following clause avoid the duplicates in SQL? |
(A) DISTINCT (B) HAVING (C) WHERE (D) GROUPBY

Heireumid st Matplotlib Qewhen g sufl allerseliLLBiGemsT auenTiLl
uwsTu@®Fma?

(1) pie() (<) line( ) (@) bar() () plot( )

Which of the following matpiotlib function is used to draw line chart?

(A) pie() (B) line() (C) bar() (D) plot()
ugd — 11/ PART - I

gGsad M  allaTTESERSG allepLwelss. aflarr  erenr  24&5@ SLLTWLTS
aflen L wefl&EHayLb. 6x2=12
Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

20.

Impure G&wmhann) eTHTDTEV 6T6bTer?
What is impure function?

GuoliEI eTETDTY 6T6TEd?

What is mapping?

usSTEN LWaTLUHSSIUED LG CFwHGPlseT wreneu?
What are the different operators that can be used in Python?

() SWIG (&) MInGW aflfleursageng s
Write the expansion of (i) SWIG (ii) MinGW

&rib 'school’ sresruided '’ stsirp sTSgGallsT CBiwemD DD THlioenD

FO\prL_ (b eTesTeE?

What is the positive and negative subscript value of the character ‘h’ in string
‘school'?
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214 flsimeugio @pflapaepullesr Qeuaflu

& s

alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="t)
What will be the output of the follow
alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="t)

ind Snippet?

. . 6V g@gj&i.
22.  @)ard@E g FTaTYIHAITHEESSIT G)'g:r,n'u__rﬁu.lsm
Write the syntax of class instantiation.

23.  SQL wmhmib MySQL Geumur® GTGITEUT !

2
What is the difference between SQL and MySQL

; y 3 w5 %5 Goushr® )
24.  ssewersSTGaT SewIs G CFWDIDISE surLbewL sTEUUTDI I QY.

STHSSISSETL (B & (5. n
How to set the limit for recursive function? Give an example.

u@d - Il / PART = Il

aflorr  eteor 335 S LTwiorg

JCs@d Hm  alarssenig aloLwellss.
6x3=18

aflsn_weflsseaih.
Answer any six questions. Question No. 33 is compulsory.
25.  Ulsireupeuameunmish constructors whmitb selectors sremsu sreur O|EOL_WITETLD & TeuTs.
() N1=number()
(=) accetnum(n1)
(@) displaynum(n1)
() eval(a/b)
(2-) x,y= makeslope(m), makeslope(n)
(2ar) display()
Identify which of the followings are constructors and selectors?
(a) N1=number() '
(b) accetnum(n1)
(c) displaynum(nT)
(d) eval(a/b)
() x,y= makeslope(m), makeslope(n)
(f) display()

26. CEMlyenn U@LUTiley 1o
wirenesu?
What are the different
algorithm?

DDID QrwsdBmer CHOT et L Gauy Lig lamaser

phases of g i
nalysis ang Performance evaluation of an
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28. m'—'.“%’ﬁ’""“ﬁsﬁT PO FrHSlaierer @euGlaurTy 611pHSHI(MHO|HGLD eTeuuTM) &L 6l e
PEHIHE D QFwiiu@ang?

How index value allocated to each character of a string in Python?
29.  srey sTLAUUESSsT FCHEID APSTR) HETEDLOEMAT 6TIHSI5.
Write any three uses of data visualization.

30. sriedwer QUHESm QUTHSSLTET R TOSSISHTL_HLET allorTdGs.

Explain Cartesian product with a suitable example.

31.  write m‘r_hglmb append ye»pevwsefler Gaununr® sreireT?

What is the difference between the write mode and append mode?

32. Uereumnd eflurtiseflsr 9uyliusoLuwld gewpaurflwrs udaysevear Fenrul G |
UGS T BIIeL QeTenD 6T(WHSHI%.

STe|SHem Gluwir : organization.db

S| L_suemewt GQuwi  : Employee

L{6VBIG 6T : Eno, EmpName, Esal, Dept

Read the following details. Based on that write a python script to display department
wise records

Database name: organization.db
Table name: Employee

Columns in the table: Eno, EmpName, Esal, Dept

33.

while wiL_&eal LwsTUBSS) ©bg WSLGLETEmeT vl gwedl (B SjeupHmler
Qursgs wHUGuTTHMET SanTdal(h 9 FAB D MUSSTET BITeV QETEND 6THSHIS.
Write a simple python program with list of five marks and print the sum of all the
marks using while loop
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 ug#-IV/PART=IV. oo B x By
QOS] aﬂmrre;as@p&@ aflenL_weRdsayid. o 4
Answer all the questions.
34. st Fradled £psamLaiben sy
letrecgcdab =
if b <> 0 then ged b (@ mod b) else return 3
QFwmHampleT QLT ’ . sriir
((jb)) Qs P fp(ﬂ@ﬂ SETEOTHSTEET a{mépg'jg,jésgéﬁfrsh’@w QWMD) Usng
glaflé@h s peam sl
(®) Qswedmy wglliller Gluwir
(7) Qswhenpenm FeTenaTSHTG6T cg,my;;f_&gl&
(o) sermarssrCar SympsEIEQETaTEnSm pyd

Qamsirem @D g DI

Identify in the following program
letrecgedab =
if b <> 0 then gecd b (a mod b) else return a
i) Name of the function ' )
ii) Identify the statement which tells it is a recursive function
iy Name of the argument variable
iv) Statement which invoke the function recursively
v) Statement which terminates the recursion
(oy6vevg) / OR)
Qpmlpenmullsr ustTLlweLsemer aflard @s.
Explain the characteristics of an algorithm.

35.  eouSSTTlST STMATSSTCRT HMIPSHGISCETETERLD GlFWD I MIs%emaT
ST(HSSISETL_HL6T aflerd@s.
Explain recursive function in Python with an example.
(9jsvevg | OR)
euggreaflar find() Gewpemn upPlu Py gereom erepgis.
Write a note on find( ) function in Python.

36. Ulsireu(pid ewugsmer Blredlsr QeuafluT® ersireur?
What will be the output of the following Python program?
A={x*3 for x in range (1,6)}
B={y**2 fory in range (1,10,2)}
print(A)
print(B)
print(A|B)
print(A-B)
print(A&B)
print(A*B)
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38.

PRt (@ysvevgy / OR
DBMSsir usssrilwesoysener aflers@s. )

Exp!ain the characteristics of DBMS.

CSV Gsrudlsd greysenear sul.suenioliugn@ Werunp Geuedriyw aflglpennsenem
TEIS. N -
Write the rules to be followed to format the data in a CSV file.

' (sysvevg / OR)
getopt()sir QgrLflene sTpsIs. GuogILd, 6T QFwe)HLSDTYLD IS Fmuyw
wFliyseneryid aflerd Eas. | | | | |
Write the syntax for getopt() and explain its arguments and return values

HAVING gisnenr Klredleir LIWGHT 6TETEIT? PUSSTET BITeD RETDD T(HSHISETL LTS
H(HS. ' '
What is the use of HAVING clause? Give an example ‘python script
(oévest [ OR)
matplotlib sssrewsd gewyuilear LVGeumy QUITESSTETEH DT allend 5.
Explain the various buttons in a matplotlib window. -

Fededede
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10.

11.

12.

13.

str1="COMPUTER"
print(str1[::2])

(oNER = (94)CO

i Ulereugid Blredlsir Geuefluf®) srsirenr?

(@ OPTR (%) CMUE

What will be the output of the following snippet?

str1="COMPUTER"
print(str1[::2])
(A) ER (B) CO

(C) OPTR (D) CMUE

SCY Qar@®éasiiurBsrer List-6v 614866 o_mILIL|&6iT o 6remeaT?
MyList=[78,91,34,[32,61,85],65]

() 3 (<) 4

(@5 () 7

How many elements are in the list given below?
MyList=[78,91,34,[32,61,85],65]

(A)3 (B) 4

(C)5 (D)7

() class class_name<>

(<) class class_name
(@) class class_name:

(r) class class_name[ ]

Which of the following class declaration is correct?

(A) class class_name
(C) class class_name:

(B) class class_name<>
(D) class class_name][ ]

STaYSSHemSHe0 p@h tuple .......oeeeee. TR (W Lpd&LILIHSI WS

(o) 9 Lousnent  (9y) sullens (@) uswTydsamm - (FF) yeoid
Atupleis also known as .......... In database.

(A) table . (B)row (C) attribute (D) field
Qur®bsTs paromp CoibelsE:

() CREATE () UPDATE (@) ALTER () DROP
Pick odd one:

(A) CREATE (B) UPDATE (C) ALTER (D) DROP

__name__ srgemend Q& TesT(heTarg)?

() C++ Gammriay Quuwir

(@) wuggrer Cariyl QUi
What does __name__ contains?
(A) C++ filename

(C) Python filename

250

(=) main() Quuwr
(D) OS module @t

(B) main( ) name
(D) OS module name
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i lﬂmsugl!gw TSl PSITDL H|LLeuenenT srerr I|WYPEHBLULGHHDEI?

o (1) salite_master () sql_master (@) main_master () master_main

, Which of the following is called the master table? .
(A) sqlite_master  (B) sql_master (C) main_master (D) master_main

' 15. surfl euewruL (b D606V eurf eflemdsa i B &RV TN 6T 6TEIT ) a’mgnas&uu@w

srey Ysteflaafsr Qsrienr @i Gariig e @)ementiiLiger epevid &ffl—@aﬂﬂl@
(@) ePLursTasr (<

b) Lysiraflaer

(@) sul_masssr (/F) Gamr@assir

In Line Chart or Line Graph displays information as a series of data points

called

(A) Markers (B) Paints (C) Dots (D) Lines

ugd - Il / PART ~ I

gGsd m  alarssendse ool wellss.  allarr  erenr  24d4@  sLLTWLTS
aflenL_weflsEayLb. 6x2=12

Answer any six questions. Question No. 24 is compulsory.
16.  evussTafld LwSTLRSSILGD LOCun AFunEGVlEer WTens?
What are the different operators that can be used in Python?

17. eoussraflear sL_QUUTL B Fmmniseer ul g wsdHs.
List the control structures in Python.

18. seTeraTsFTGRT HMYEHEGD QFWhHaE M ) ILML BlLbSEET TETDTEV sTSITEUT ?
What is base condition in recursive function?

19.  Pip stebrmmeD srstrsur?
What is Pip?

20.  epussTEND 2 der QBTELILS HraflaThiser wramau?
What are the collection data types available in Python?

21, sreiTmimeuTHEE) GTETMTE) 6TGTEIT
What is instantiation?

22.  Unique whmio Primary Key s @ur® CoumIL®ESI%.
' Differentiate Unique and Primary Key constraint.

23,

§T:Gle6V 6TETMED 6T6EITEUT?
What is Excel?

5&56&7,@ EITLTHGS CQFwsLr_1y6r GILITg Squ.su'éi@g'; TQSIG.
Write the general format of slicing operation?

251

Scanned by‘Cam"S"canneri



" gCseih . M- aflarrasenésE ol weflss.
aflem L wefl&HeLb.
Answer any six questions. Question No. 33 is compulsofy

25.
26.
27.

28.

29.

30.

31.

32.

What are the factors that measure the executlon tlme of an

e g
ug# - Il /PART - 1IF . -

aflsorm 67607 335@ SE'I—"-!““J”‘

6"3—18

Pure wpmiio Impure G&w mhdapisemner GoupuBHGSI%-
Differentiate Pure and Impure functions. T .i

_— 2 |
sflevr. sreTmTed sTeiTaIT? 676 e0lsVL Pairs ersT M) eplmwﬁéﬁuu@‘ﬂmg'

What is a List? Why List can be called as Pairs? o | ¢
wuseTraili aienrbliVensamil &% TS 15 HTL (BT suenywDi- l :
Define Global scope with an example. '

eireumid s paflsir s miblensy, QEwm@Gn] wHmIb auenTuienTuilesT GLIWENT &T6uT. i
Identify the module, operator, definition name for the following ,

welcome.display( ) |

sougsrefler r QFwhur’ B CFwmnH@GmlsensTi umm! Gl 6TRSIS- {
Write a note on string formatting operators of Python. .

Hereupio tuple gmlefltisnu o HmGmréeEs. i
>>> Mytuple=tuple([x**2 for x in range(2,11,2)])
Ulsitaupio Qeuefluf’ B gn Hmiseflsr Qeuafluf® srsiresr?

————

() >>> print(Mytuple[2:3]) |
(=) >>> print(Mytuple[3:])

(8)) >>> print(Mytuple[:])

Consider the following tuple declaration: | J
>>> Mytuple=tuple([x**2 for x in range(2,11 2)]) ”{
What will be the output of the following print statements?

(i) >>> print(Mytuple[2:3])

(i)  >>> print(Mytuple[3:])

(i)  >>> print(Mytuplel[:])

SIOYSHT HL_Leniwlienu afleur).
Describe the database structure.

20 Cpglgpempuilst Qude Grrsms SATELBoug hasmeor STrenfla 2
6T UJITS‘DG]J

al‘élorlthm? L
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3.

lsirauBlo SEeULSMET ) LILDLIITEH Os e () uglaysener Enoer gy iuenLufls
@ni@gaufmsullsy gid@w eubsrer Hre PHTDD TWEIB.

Sroyssetsdler Guwi @ organization.db

L Leusmenrullsir GQuwi  : Employee

DL L_6UEHERT L)eUMId 6T : Eno, EmpName, Esal, Dept
Read the following details. Based on that write a python script to display records in
descending order of Eno

Database name: organization.db

Table name: Employee

Columns in the table: Eno, EmpName, Esal, Dept

ugd - IV / PART - IV

SwaTE g allearTdsEmsE aflewLwefdEsa)wb. 5x5=25
' Answer all the questions.

34.

35.

36.

37.

QsrEHssfst (Modules) v lwsiygser wreneu?
What are the Characteristics of Modules?
(svsvg1 / OR)
Gy suflenswrds Qpdlpenanw @ Ss5E T (HL 6T aflord & s.
Explain the Bubble sort algorithm with example.

UG STeNgsTeT FTaus) dapmiseerss umnfl aflflourd mﬂmé;ﬁ@a;. '
Explain briefly about jump statements in Python.

(oys06v5) / OR)
siraumid 2 eraflenenthg GlFwDHdn Disenem oflerd G s.
(@) id) () chr() (@) round() (w)type() (2-) pow()
Explain the following built-in functions.

(iyid() (i) chr() (i) round() (iv) type()  (v) pow()

FTRIGENET SIS T GBS LLHMILD CPSITMITLD HIETL (&Y LT FlewTLT(HFD uD]
allerd @ s.
Explain about slicing and slicing with stride.
(o16vev51 / OR)
g efevr_ (List)-sb 2_sirer 2_piiysener sTeeuTD) 9|ETIG6suTis?
How would you access elements of a list?

DBMSsir gnmisener allerd@da.
Explain the components of DBMS.
(oysvevz1 / OR)
sre) suenrwenm Gwryfl (DDL) Qewhur@ssir wreneu?
What are the functions performed by DDL?
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ot VAT sl {1 $i3fth

e SQL-m mglum_@ Friryssverts LHPl @B sr@gfa; |
- Write a note on aggregate functions of- SQLsi e e

| (ysvevsi J OR) -
Matplotlibeb LwsiTu@SSOILE D pyplotaeflsr WWdSmsrr' TGS,
Explain about the types of pyplots using’ iffMatplotib.
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wrglif aﬂmrr,g’;grrsif 2 6/ Model Ques.tionkPap‘e.‘r -6 i :"'-"-;"%77'- s ST i
Cuirleme @)rermid SO PP . o

HIGHER SECONDARY — SECOND YEAR

ARG " PART - lll

senflafl syflefud / COMPUTER SCIENCE

(5101p pmIh @pisdle euyf) / Tamil and English Version)
(New Syllabus)

[T oerey: 2.30 wenfl Gpirib] '
[Time Allowed: 2.30 Hours] [Maximum Mgrks: 70]

splayerser: (1)  omarss alamaseyn sflursl UBeurdl 2_6iT61TlT,<;'T; ET.WU:?)“)GBT{F
FluTiggs Osrsteran. FaiLglails) @@}I)'“ﬂ@'—”ﬂml WM&
s renfliimerflLb o L aTig wrsHd Oz flallssa|Lw.

(2) B gowg smoy  owuleser GG 5:"@@5“95!-"3@@,
S5CaTYPusHGD LwETURSS CauaTBID. LIRS MMIaIGHE
GlueTdlsv uwesTU (h$ Sy LD.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
uggl =1/ PART - |
GmlLLy: () owarss allarTssendein allenL_wefldgeib. 15x1=15
(i)  OCar@ssiul_Rsirer wrom  ellsnsefle

ollLmus Coih0s055i6 Gt GLsr af
TS Lb.

Blsa)d  ghyspLw
oL wlenaruio Gaigg)

Note: ()  All questions are compulsory.

(ii) Choosg the mos't appropriate answer from the given four alternatives
and write the option code and the corresponding answer

Ulesreupid erg geaflggeareniowrer Qsmfwe O&TEH?

(@) gimenr flrd  (2y) Qerusg
. pag (@) worwen (%) Qar ;
Which of the following is a distinct syntactic block? s,
(A) Subroutines  (B) Function (C) Definition (D) Modules
248
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Aereupio 6781 wed e piiy  @Qur@eflsir | LGeug, UGHEEHES B g

(<)) Tuples (1) Lists (@) Classes () quadrats

Which of the following does not allow to name the various parts of a multi-item
object? -

(A) Tuples (B) Lists (C) Classes (D) quadrats

Ibs QEEGW BT Glwewr  QerhGussaTe) L HCL  yemibomigw
o_mILISlQTT &6 eTeuaurm) e riu@BHma?

() Public o_miiSlemiaer (<) Protected o_mycifleriaser

(@) Secured o_miifarigsr (=) Private o_myiflesrissr

The members that are accessible from within the class and are also available to its
sub-classes is called

(A) Public members
(C) Secured members

(B) Protected members
(D) Private members

Quidw smiigelwereri Abu Jafar Mohammed ibn-i Musa al Khowarizmi-sir
©_(HEUTEI 6UTTHENS GTEUUTD) s&slLGADSI?
() Flowchart (<) Flow (@) Algorithm (=) Syntax

The word comes from the name of a Persian mathematician Abu Ja'far Mohammed
ibn-i Musa al Khowarizmi is called?

(A) Flowchart (B) Flow (C) Algorithm (D) Syntax

fereupo  6Ths GO USSTET  Blrevsafled GUlLmTSsT apBGaSDSG
LweTU@SSILBSE DS T

(o) # (8) & @ @ () $ _
Which of the following character is used to give comments in Python Program?
(A) # (B) & C @ D) $
siTeu peussTauHMIST 675! jump Amiiyé ClFTs é!ébsﬂ? ook
(@) pass (=) continue (@) skip () brea
Which of the following is not a jump keyword? | Fwa
(A) pass (B) continue (C) skip (D) br

§ oy D
s S DRCIDI Gepiaiar &) po we| GlFwWIBHY
(o)) Casmaitiu@in GaFwsIGY (=) preTe® 0(; -

&F
(@) Hpiys Qersd QewalEY () ﬂ‘ﬂ:m’ per ClFwg
Which of the following is not an argument type:
‘ nts

(A) Required arguments (B) Default argume i
(C) Keyword arguments (D) Fixed length argum
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